WhEHA REMSREAERER (BEE)

SH3E1281B8~12831H8
BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

‘e ZE| mex | bmm | mmuEs | vosw |mmsee | WREF | ARA | ATaE | wbEm | L
BEAA | AIEREz R Ls ST NREE FroTg | BEXM EJ7) B AELEF K | HEEVS—| EHXF | DERLRE
WhET WhET WhET LWhET WhET WhET WhET WhET WhET WhET WhEM
BEE—REEHILD FArA [icfeai il 3L [EaleaL 3L 3L 3L 3L 3L [l
AR R U #957km #931km #934km #932km #948km #959km #958km #963km #953km #152km #963km
AN s 004 0.06 007 007 - 003 - 005 003 004 -
12A2R | e 004 0.06 007 008 005 003 005 005 003 004 -
12ASR | 1o 004 0.06 007 008 - - 005 005 003 004 -
‘2(}1“)5 1584 004 0.06 0.07 0.08 0.05 004 0.05 0.05 0,03 004 -
AR e 004 0.06 007 007 005 - 005 005 003 004 -
‘251;)5 1588 0.04 0.06 0.07 0.08 0.05 0.03 0.05 0.05 0.03 0.04 -
12(’17)5 1585 0.05 0.07 0.07 - 0.05 - 0.05 - 0.03 0.04 -
‘2(}?}35 1584 0.05 0,07 0.08 0.08 - - - - 004 - -
1POSR | e 0.04 0.06 007 007 - 003 005 - 003 004 -
! 2)(2;) Bl 5w 0.04 0.06 007 008 - 003 005 005 003 - -
! 2’(5' :ll)1 Bl o 0.04 - 0.07 0.07 0.04 - - 0.05 0.03 0.04 -
! 2J(EIE1| 2 B 15 0.04 - 0.07 0.08 0.05 0.03 0.05 0.05 0.03 0.04 -
RSB 5w 0.04 0.06 007 007 005 - - 005 003 004 -
ZREL 15w 004 006 007 007 005 - 005 005 003 004 -
RSB 15w 004 006 007 008 005 003 - 005 003 0.04 -
1 zalf B 1ses 0.04 0.06 007 007 005 003 005 005 003 0.04 -




LWhEihF RERSTEERIERR (EEE) SH3E1281B8~12831H8
BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

‘e ZE| mex | bmm | mmuEs | vosw |mmsee | WREF | ARA | ATaE | wbEm | L
BEAA | AIEREz L EJ7) NREE FroTg | BEXM EJ7) B AELEF K | HEEVS—| EHXF | DERLRE
WhEM WhEM WhEM WhEM WhEM WhEM WhEM WhEM WhEM WhEM LWhE!
BEE—REEHILD el i) fiicfeavic] L FArA L L L L L FArA
AR #957km #931km #934km #932km #948km #959km #958km #963km #953km #952km #763km
1 2’(1;_)7 Bl ism 0.04 0.06 0.07 0.08 - 0.03 0.05 0.05 0.03 0.04 -
1 2’? e ST 0.04 0.05 0.07 0.07 0.04 0.03 - - 0.03 0.04 -
! 2’1} ; B ises 0.04 0.06 0.07 0.07 0.05 0.03 0.05 0.05 0.03 0.04 -
1 2’35? B 15 0.04 0.06 0.07 0.07 0.05 0.03 0.05 0.05 0.03 0.04 -
! 2@5; B ises 0.04 0.06 0.07 0.08 0.05 0.03 0.05 0.05 0.03 0.04 -
1 2’3}5)2 Bl e 0.04 0.06 0.07 0.07 0.05 0.03 - 0.05 0.03 0.04 -
! 2)(5%{ B ises 0.04 0.06 0.07 0.08 0.05 - 0.05 0.05 0.03 0.04 -
1 2’?@’2;‘ B 15 0.04 0.06 0.07 0.08 0.05 0.03 0.05 0.05 0.03 0.04 -
1ZABE L 5w 004 0.06 007 008 005 - 005 005 003 004 -
1 Z?Eff B 15 0.04 0.06 0.07 0.07 0.05 0.04 0.05 0.05 0.03 0.04 -
1 2’(5';)7 Bl o 0.04 0.06 0.07 0.08 0.05 - 0.05 - 0.03 0.04 -
1ZRZBE | 5p 004 0.06 007 007 005 - 005 005 003 004 -
! 2’3}?;’ B ises 0.04 0.06 007 0.08 0.05 0.03 0.05 0.05 0.03 0.04 -
! ZJ(E%) ST 0.04 0.06 0.07 0.07 0.05 - 0.05 0.05 0.03 0.04 -
! 2’&3)‘ B ises 005 0.06 007 0.08 0.05 - 0.05 0.05 0.03 0.04 -

¥ UDHhERIZRARE (WHET) SF3FTA20H~ BHEHEOOHRAILTLET,
¥ HIM3FI12A2A 1ISHBHEEEMBCTECEYERATLELY, T2 EHRBTEELEZOTHRELET,



WhEhF RERSTEEAERRE (TEE) SM3%E12H1B~12831H8
" RRHRERIER = %ﬁ:uGy/h'=.uSv/h(747D7“b47H#Faﬁ'=.747D°/—A“JLI~/B#FH'1)

WhE LWhEH LvhETihis
KE LA ExkFHF EE AR WhEm AT WhEm ?ﬁilll A hig LWheEm | ity | LWhEm
BEAE | BEE SE aRg | BT WERAS | She | HMXA | KUTE | BKLE | BBOARE |4—AZE K| RERSH
EE% ASNHUEE
WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET

BEE—REILD [Eafii] 3L 3L [Eale e [Eale g [Eale e [Eale g [Eale g [Eale g 3] 3]
AR UEERE #341km $938km £341km #963km #942km $#942km #935km #960km #939%km #331km $927km
! 2(’3(1)'3 158% 0.04 0.05 0.05 0.05 - 0.05 0.06 0.06 0.05 0.05 0.08
‘2&2)5 158% 0.04 0.05 0.05 004 - 0.05 0.06 - 0.05 0.05 0.08
12(13)'3 158% 0.04 0.05 0.05 0.05 0.04 0.05 0.06 0.06 0.05 0.05 0.08
12()14)5 158% 0.05 0.05 0.05 0.05 0.05 0.05 0.06 - 0.05 0.05 0,08
12(%5;'3 158% 0.04 0.05 0.05 0.05 0.04 0.05 0.06 - 0.05 0.05 0.08
12()%;)5 158% 0.04 0.05 0.05 0.05 0.04 0.05 0.06 - 0.05 0.05 0,08
12(’%5 158% 0.05 0.05 0.06 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
125}5)5 158% 0.05 0.06 0.06 0.05 - 0.05 - 0.07 0.07 0,07 0.08
12&9)5 1585 0.04 0.05 0.05 0.05 0.04 0.05 - 0.06 0.05 0.05 0.08
12@;? Bl ysps 004 0.05 0.05 0.05 - 0.05 - 0.06 0.05 0.05 0.08
12’(51 j1)1 Bl ysps 0.04 0.05 0.05 0.05 0.04 0.05 - 0.06 0.05 0.05 0.08
‘ZJ(E]E} )2 Bl ysps 0.05 0.05 0.05 0.05 0.05 0.05 - 0.06 0.05 0.05 0.08
12’35} f Bl ysps 0.04 0.05 0.05 0.05 0.04 0.05 0.06 0.06 0.05 0.05 0.08
ma;' Bl ysps 004 0.05 0.05 0.05 004 0.05 - 0.06 0.05 0.05 0.08
12’3]1)5 Bl ysps 0.05 0.05 0.05 0.04 - 0.05 0.06 0.06 0.05 0.05 0.08
mal? Bl ysps 0.04 0.05 0.05 0.05 004 0.05 0.05 0.06 0.05 0.05 0.08




LWhEit)y REMATRAERR (TEE) . RIRF12A1A~12A318
B4L: ¢ Gy/h= 1 Sv/h (4907 LA /B = 34—~ ILh/ B )

WhE LWhEH LvhETihis
rewam | EXF | gmap | LbEE | GO Lpsm | omEw | mekm | obsm |BiGoRty | LbEm
R TR wEgks | EAL | gmEm | KUTB | BALE | SBHARS [5—AzR k| KERRH
EE% ASNHUEE
WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET
BEE—REILD [Eafii] 3L 3L [Eale e [Eale g [Eale e [Eale g [Eale g [Eale g 3] 3]
AR UEERE #341km $938km £341km #963km #942km $942km #335km $960km #939%km #331km $927km
1 2’(2)7 Bl 5es 0.04 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2’? :Il? Bl ysps 004 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0,07
1 2)(51E1| ;’ Bl 5es 0.04 0.05 0.05 0.04 0.04 0.05 0.06 0.06 0.05 0.05 0.08
! 2’35? Bl ysps 004 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2@5; Bl 5es 0.04 0.05 0.05 0.05 0.04 0.05 0.06 0.06 0.05 0.05 0.08
! 2’3}5)2 Bl ysps 0.04 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2)(5%{ Bl 5es 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2’?%2;' Bl ysps 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2’(5] :5)5 Bl ysps 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2)(%;55 Bl ysps 004 0.04 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2’(5];)7 Bl ysps 0.04 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2’3&? Bl ysps 004 0.05 0.05 0.05 004 0.05 - 0.06 0.05 0.05 0.08
1 2)369 Bl ysps 0.04 0.05 0.05 0.05 0.04 0.05 0.06 0.06 0.05 0.05 0.08
1 zag? Bl ysps 0.04 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.08
1 2’(23)1 Bl ysps 0.05 0.05 0.06 0.05 - 0.05 - 0.06 0.05 0.05 0.08

¥ BMBFI2A23H ISRBRAEMBEMBTETCEBYERATLEDY, T2 eHBETEELEZOTRELET,



WhEHA REMSREAERER (BEE)

S3E12A1B~12A31H8

BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

Vb TSE | WhER | WhEE | WbEm | WbiEm | 7o7eyy | whEmn | 2REE | L gy
a=a | s e 2 | SHEF | WEZF | IR | NRREF | SKUE | BEARE | TP | IE%mH 9oER

WhEMm WhEM WhEM WhEM WhEM WhEM WhEM WhEM WhEM WhEM WhET
! 2(}32)5 1585 0.04 0.06 0.06 005 - 003 0.04 0.04 0.06 005 0.04
L 2(’%5 1585 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
! 2(13)'3 1585 0.04 006 006 005 - 003 0.04 0.04 0.06 005 0.04
L 25‘;“)5 1585 0.04 0.06 0.06 0.04 - 003 0.04 0.04 0.06 005 0.04
! 2(’?35;'3 1585 0.04 006 005 0.04 - 0.04 0.04 0.04 0.06 005 0.04
I Z(HH‘S)E 1585 0.04 0.06 0.05 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04
! 2(’17)'3 1585 0.04 0.6 0.06 005 - - 0.04 0.04 007 005 0.04
! 2(’:‘85 1565 0.04 0.06 0.06 0.06 - - 0.04 0.04 0.07 0.06 0.05
12&9)'3 1585 0.04 006 005 005 - 003 0.04 0.04 0.06 005 0.04
‘2295 1565 0.04 0.06 0.05 0.05 - - 0.04 0.04 0.06 0.05 0.04
PRIE 5w 004 0.6 005 004 - 004 004 004 0.06 005 004
‘ZJ(E]E})ZE 1585 0.04 0.06 0.06 0.04 - 0.04 0.04 0.04 0.06 0.05 0.04
12’35}?5 158% 0.04 0.06 0.05 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04
12)(1;15 1585 0.04 0.06 0.05 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04
12’3]1)55 1565 0.04 0.06 0.05 0.04 - 0.04 0.04 0.04 0.06 0.05 0.04
‘2’3'1?5 1585 0.04 0.06 0.06 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04




WhEHA REMSREAERER (BEE)

S3E12A1B~12A31H8

BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

I gD
WhET | RS | whEm | LbEs | whEm | LhEm | 7o7eyy | vosmn | RRET | wpEs | g@R
AEAE | BErn | DEXFR R SMXET | ERXE | NIXET | MEEXET | SKLE | BEARE | 0.0 NIFTX AR z:;z
WhET WhET WhET WhET WhET WhHET WhET WhET WhET WhET WhEM
1 2’(2)7 Bl o 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
1 2’? e B 15 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
1 2’1} ;’ Bl ism 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
! 2’35? B 15 0.04 0.06 0.05 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04
1 2’(5' f)‘ B 15 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
! 2’3 }3)2 Bl e 0.04 0.06 0.05 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04
! 2’(5';)3 B ises 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
! 2’?%’2;‘ Bl ism 0.04 0.06 0.05 0.05 - 0.03 0.04 0.04 0.06 0.05 0.04
ZRBB L 5w 004 0.06 005 004 - 004 004 004 0.06 005 004
1 Z?Ef? ST 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
1ZR2B 5w 004 0.06 005 004 - 003 004 004 0.06 005 004
! 2’? f? St 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
1 2’3 E;’ B 15 0.04 0.06 0.05 0.04 - 0.04 0.04 0.04 0.06 0.05 0.04
1 2’? jgg) ST 0.04 0.06 0.05 0.04 - 0.03 0.04 0.04 0.06 0.05 0.04
1 2’(23)1 B 15 0.04 0.06 0.05 0.04 - 0.04 0.04 0.04 0.06 0.05 0.04

TH3E12H238
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WhEHA REMSREAERER (BEE)

SH3E1281B8~12831H8
BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

L;pbf{;ﬁ WhEm | UbE |uhEsEF | nRETEY | BEE | e AEZEN | mmgam et | e
AEBHE | AEER z:;z BHAXA MBS Ny B — = = DE
WhEM | WhEm | WhEm | WhEM | WhEM | LbhEMm | LbhEm | LhEm | WhEm | WbEm | WhEm
Benonn | | o | B | | i | tmam |t | e | tone | s | e
12()32)5 150 0.05 0.04 0.04 0.05 0.07 - 0.07 0.04 0.05 _ 0.07
12(3(2)5 150 0.05 0.04 0.04 0.05 0.07 - 0.07 - 0.05 - 0.06
12(13)5 158% 0.05 0.04 0.04 0.05 0.07 0.09 0.07 0.04 0.05 - 0.07
125:4)5 150 0.05 0.04 0.04 0.05 0.07 - 0.07 0.04 0.05 - 0.07
12(%5;'3 158% 0.05 0.04 0.04 0.05 0.07 - 0.07 0.04 0.05 - 0.06
12(%6)5 158 0.05 0.04 0.04 0.05 0.07 0.09 0.07 0.04 0.05 - 0.07
12()17)5 158% 0.05 0.05 0.04 0.05 0.07 - 0.07 0.04 0.06 = 0.07
12 (J?ks) B qsm 0.06 0.05 0.04 0.07 0.08 - 0.08 - - _ _
1233)5 150 0.05 0.04 0.04 0.05 0.07 0.09 0.07 0.04 0.05 - 0.06
! ZJ(E;? B 150 0.05 0.04 0.04 0.05 0.07 - 0.07 0.04 0.05 - 0.06
12@1; B 15 0.05 0.04 0.04 0.05 0.07 0.09 0.07 - 0.05 - 0.07
12J(E!E: )2 ST 0.05 0.04 0.04 0.05 0.07 0.09 0.07 0.04 0.05 - 0.07
12)35} f B 15 0.05 0.04 0.04 0.05 0.07 0.09 0.07 - 0.05 - 0.07
! ZJ(EE;‘ H 150 0.05 0.04 0.04 0.05 0.07 - 0.07 0.04 0.05 - 0.07
! 2(H7]1)5 H 150 0.05 0.04 0.04 0.05 0.07 - 0.07 - 0.05 - 0.07
! 2)(517'1)6 H 150 0.05 0.04 0.04 0.05 0.07 0.09 0.07 0.04 0.05 - 0.07




WhEHA REMSREAERER (BEE)

SH3E1281B8~12831H8
BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

Q@gﬁ LhEt | Lo (0hEgiEE | SRR | BEE | poeea | BESEH [ Luean | aRET | e ean
AEAR | RIEEZ 1325 HAXF | A8 NAY A £ & St

LWhET LWhET WhET WhET WhET WhET WhET WhET WhET WhET WhEM
Sanuis | e | thoom | fden | Do | e | foem | oo | oo | et | Do | #ome
ZRUB L 5w 005 004 004 005 007 009 007 004 005 - 007
e 0.05 0.04 0.04 0.05 007 - 0.06 004 0.05 - 007
ZROB L 5w 005 004 004 005 007 008 007 004 005 - 007
1ZR20B | 5p 005 0.04 004 005 007 009 007 004 005 - 0.06
2A2E | g 005 004 004 005 007 - 007 004 005 - 006
1ZRZE | 5p 005 004 004 005 007 009 007 - 005 - 007
2A2E | g 005 004 004 005 007 - 007 004 005 - 007
1ZANE L sm 005 0.04 004 005 007 009 007 004 005 - 007
ZRBB L 5w 005 005 004 005 007 009 007 004 005 - 007
2A2E | g 005 004 004 005 007 - 007 0.04 005 - 007
1ZR2B 5w 005 004 004 005 007 008 007 004 005 - 007
2A2A | g 005 004 004 005 007 - 007 004 005 - 007
ZRBE | 5w 005 004 004 005 007 009 007 004 005 - 006
A8 | g 005 004 004 005 007 - 007 0.04 005 - 007
RSB 5w 005 004 004 005 007 009 007 004 005 - 007

HH3E12H238

IGRBREEERBTETHRYERATLELY, T2 EHBTEELEZOTHRELET,




LWhEihF RERSTEERIERR (EEE) SH3E1281B8~12831H8
BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

wazwe | LIMNIAE | WhEHIY | WHhEDE LWhEH N e, "
e e Ly | BPESR | GAENE | mapm |ve—ox(|aomt—r | Bu0E | DPE | xmemm | FZ8 |\ NEUEEC) AN
AEAB | AEFZ = B |UUE—OH) | FroTE | wus— < =
WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET

BEE—REHILD [Eafii] L] 3L [Eale e ik agic] [Eale g [Eale g [Eale g 3] ik 2] L]
AR UEERE £925km $949km #930km #953km #930km #928km #943km #935km $934km #933km #933km

! 2(’32)'3 158% 0.10 0.03 0.06 0.04 0.10 0.08 0.07 0.05 0.07 0.05 0.06

! Z&Z)E' 158% 0.09 0.03 0.06 004 0.09 0.08 0.07 0.05 0,07 0.05 0.06

! 2(13;'3 158% 0.10 0.03 0.06 0.04 0.09 0.07 0.07 0.05 0.06 0.05 0.06

! 2314)5 158% 010 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

! 2(’?35;'3 158% 0.10 0.03 0.06 0.04 0.09 0.09 0.07 0.05 0.06 0.05 0.06

! 2(ﬁﬁe)|3 158% 010 0.03 0.06 0.04 010 0.08 0.07 0.05 0.06 0.05 0.06

12(’%5 158% - 0.03 0.07 0.05 0.09 0.08 0.07 0.05 0.07 0.05 0.06

! 2585 158% - 0.04 - 0.05 0.09 0.09 0.07 0.05 0,07 0.06 0,07

! 2&%5 1585 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 22? Bl ysps - 0.03 0.06 004 0.09 0.07 0.07 0.05 0.06 0.05 0.06

1 2’(5] j1)1 Bl ysps 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 ZJ(E]E} )2 Bl ysps 010 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 2’35} f Bl ysps 0.10 0.03 0.06 0.04 0.10 0.08 0.07 0.05 0.06 0.05 0.06

1 Za? Bl ysps 010 0.03 0.06 0.04 0.09 0.08 0,07 0.05 0.06 0.05 0.06

1 2’3]1)5 Bl ysps 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 zal? Bl ysps 010 0.03 0.06 004 0.09 0.08 0.07 0.05 0.06 0.05 0.06




LWhEihF RERSTEERIERR (EEE) SH3E1281B8~12831H8
BT 4 Gy/h= 1 Sv/h (4909 b4 /B[ =490 —~" Wb/ BERED)

wazwe | LIMNIAE | WhEHIY | WHhEDE LWhEH N e, "
e | ey | BFESR GBS | TEEBE (SE-0x(| RrMt—t | BE0R | LR | xmare | T8 NEEEE ) WS
AEAR | MEFL = EH O |UvE—0fm) | FruTB | wvs— - =
WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET WhET

BEE—REHILD [Eafii] L] 3L [Eale e ik agic] [Eale g [Eale g [Eale g 3] ik 2] L]
AR UEERE £925km #949km #930km #953km #930km #928km #943km #935km $934km #933km #933km

1 2’(2)7 Bl 5es 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.07 0.05 0.06

1 2’? :Il? Bl ysps 010 0.03 0.06 004 010 0.08 0.07 0.05 0.06 0.05 0.06

1 2)(51E1| ;’ Bl 5es 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

! 2’35? Bl ysps 0.09 0,03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 2@5; Bl 5es 0.10 0.03 0.06 0.04 0.10 0.08 0.07 0.05 0.06 0.05 0.06

1 2’3}5)2 Bl ysps 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 z’ééf Bl 5es 0.10 0.03 0.06 0.04 0.09 0.07 0.07 0.05 0.06 0.05 0.06

1 2’?%2;‘ Bl ysps 0.10 003 0,07 0.04 0.10 0.08 0.07 0.05 0.06 0.05 0.06

1 2)(51:5)5 Bl ysps 0.10 0.03 0.07 0.04 0.09 0.08 0.07 0.05 0.07 0.05 0.06

1 Z?Eff Bl ysps 0.10 0.03 0.06 0.04 0.09 0.08 0,07 0.05 0.06 0.05 0.06

1 2’(5];)7 Bl o 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 2’3&? Bl ysps 0.10 0.03 0.06 0.04 0.09 0.09 0.07 0.05 0.06 0.05 0.06

1 2)369 Bl ysps 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.06 0.05 0.06

1 zag? Bl ysps 010 0.03 0.06 004 0.10 0.09 0.07 0.05 0,07 0.05 0.06

1 2’(23)1 Bl ysps 0.10 0.03 0.06 0.04 0.09 0.08 0.07 0.05 0.07 0.05 0.06
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